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—RRSEBE - B 52 50 14 6 4 13.0
—RRSBFBH (SR 4 4 3 2 1 4.0
R5 R 8 L 16 15 10 4 2 8.0
R & &M 6 6 3 2 1 6.0
SEBEESE (osees - mnme 9 8 5 4 3 3.0
—REFE (BREEE) 1 1 0 0 0 -
—RRSEBE - B 63 61 15 5 3 21.0
—RRSBFBE (SR 4 4 3 2 1 4.0
R4 R 8 L 10 10 5 3 2 5.0
T ARE:Afrh 3 3 3 2 1 3.0
SEBBESE (ovaes - mnme 11 8 4 2 2 5.5
—REFE (BREESD) 1 1 0 0 0 -
—RRSEBE - B 110 107 15 6 4 27.5
—RRSBFBH (SR 8 6 4 2 1 8.0
R3 R 8 L 14 13 9 4 2 7.0
R & &M 6 5 3 2 1 6.0
SEBBESE (osees - mnme 4 3 2 2 2 2.0
—REFE (BREEE) 1 1 0 0 0
—RRSEBE - B 99 98 12 5 2 49.5
—RRSBFBH (SR 5 5 4 3 1 5.0
Ro R 8 L 19 19 10 4 2 9.5
R 2 &M 4 4 4 2 1 4.0
SEBBESE (osaes - mnme 10 10 7 4 2 5.0
—REFE (BREESD) 3 2 1 1 1 3.0
—RRSEBE - B 145 145 25 8 4 36.3
—RRSBFBH (SR 6 6 5 3 1 6.0
H31 R 8 L 24 24 12 5 3 8.0
R 2 &M 4 4 3 2 1 4.0
SEBBESE (2w moae 49 47 23 12 4 12.3
—REFE (BREEE) 1 1 1 0 0 0.0
—RRSEBE - B 158 158 21 7 3 52.7
—RRSBFBH (SR 7 7 4 3 1 7.0
R 8 L 33 33 13 5 4 8.3
H30 R & &M 5 5 4 3 0 0.0
—REFE (BREESD) 0 0 0 0 0 0.0
SEBBESE (osaes - mnme 12 12 4 3 3 4.0
SHIDE @zo 14 12 5 2 1 14.0
—RRSEBE - B 159 155 18 8 5 31.8
—RBER @Ry 4 s T 3 1 4.0
R 8 L 26 26 10 5 2 13.0
H29 R 2 &M 5 5 3 3 1 5.0
SEBBESE (osees - mnme 15 15 9 4 4 3.8
IREEET (mme 0 0 0 0 0 0.0
SHIDE @zo 16 13 6 2 1 16.0
—RRSEBE - B 141 129 20 7 5 28.2
Line | —REBBE @GRz 7 7 4 2 1 7.0
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—RRSEBE - B 127 109 23 12 7 18.1
Ho7 —RRSEFBH (SR 13 12 3 2 2 6.5
R 8 L 34 34 12 7 5 6.8
SEBEESE (osees - mnme 25 - 22 15 10 5 5.0
—RRSEBE - B 112 106 22 7 6 18.7
—RRSBFBH (SR 4 3 2 2 1 4.0
H26 R 8 L 27 27 8 3 3 9.0
FENEZIESPIS 1 1 1 1 1 1.0
R f2 M 6 4 4 2 1 6.0
e 240 a1 12 3 8.0
—RRSEBE - B 205 177 30 9 7 29.3
Ho5 —RRSBFBH (SR 2 1 18.0
R 8 L 5 3 10.3
H OB 4 1 11.0
—RRSEBE - B 9 5 21.0
—RRSEFBH (SR 2 1 8.0
—RREFE En B 2 2 3.0
Ho4 1% B I 6 3 11.0
H OB B 11 3 6.3
R 2 &M 2 1 10.0
FENEZIESPIS 1 1 2.0
— BT 1 1 4.0
—RRSEBE - B 8 4 27.0
—RRSBFBH (SR 3 3 1.7
H23 ® B8 L 6 3 15.7
H OB B 8 2 7.0
H=BHEE 2 1 8.0
H22 —AZSB 75 8 3 30.7
— 2S5 6 2 31.0
H21 Rr B8 L 6 3 12.0
H OB B 10 2 24.0
— 2S5 6 2 28.0
H20 R B8 L 6 3 21.7
B B B 8 2 6.0
H19 — 2S5 5 1 23.0
R 2 &0 4 2 3.5
LS :ﬂ%%?%ﬂ‘é‘% 8 3 16.3
H OB B 10 4 5.3
H17 R & 60 6 2 4.5
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